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7 Workou

Give your snswer comset 03 sigifcant igurs.

(Total for Question 7 i 2 marks)
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§ Work out an estimate for 498+ 216 %735

(Total for Question 8is 3 marks)
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12 (@) Find the reciprocal of 2.5

) Work o 383 X 03T

Give youransver ot to 3 signifisnt s,

(Tota or Question 121 3 marks)
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1 Simplify

Gx Oy = v -3y

(Total 2 marks)
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Edsel has four number cards.

‘Sharon has three number cards.
reprosents a number that Sharon knows.

Edsel and Sharon each pick e of their cards atrandom.
“They calculate the difference batween the numbers on thei cards.
“Thisistheir sample space.
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Work out the values of rand t.





